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| PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
ﬂ*" mark the correct choice on your sheet,

1- The new economic policies threaten to ---------- the health care system.

1) denote 2) trigger 3) assimilate 4) undermine
2- The map clearly ----—-- -- the boundary between Turkey and Iraq.

1) intrudes 2) conducts 3) delineates 4) withdraws
3- A rise in interest rate and inflation would severely ---------- economic growth.

1) retard 2) depart 3) predispose 4) mistreat
4- The expression “full moon” means the 14™ day of the moom -------m- from its first

appearance.

1) reckoned 2) propelled 3) proceeded 4) stimulated
5- In many countries, doctors have traditionally enjoyed high social 3

1) arena 2) status 3) circumstance 4) disposition
6- Her strict ---=------ to the diet cansed her to lose a lot of weight in one month.

1) incentive 2) adherence 3) presumption 4) accumulation
7- Constant argument caused angry ---------- that brought an end to the peace talks.

1) discord 2) deviation 3} diffusion 4} discrimination
8- Careful ---------- of the company’s accounts revealed a series of errors.

1) procedure 2) conformity 3) scrutiny 4) contradiction
9- Unfortunately this diet is —--------- in vitamin A.

1) incompatible 2) exposed 3Y antecedent 4) deficient
10- They showed a very ---------- lack of gratitude to those who had helped them.

1) marginal 2) indecent 3) differential 4) impotent

I PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or |
| (4) best fits each space. Then mark the correct choice on your answer sheet. |

Water which has fallen as rain is disposed of in three ways. Some of it evaporates, with the
help of the sun and wind, and returns to the atmosphere. Some gathers to form a stream.

(11} ----==- sinks into the soil, but much of it appears again in springs and finds its way to the
surface streams. {12) --—--—- is this water from springs that keeps rivers flowing long after the
rain has stopped. Melting snow and glaciers are other sources of river water.

The streams formed in all these ways join to form rivers (13) ———- — they are the
Aributaries. The area of land from which the water of a river and its tributaries is drawn
(14) ------==== the basin of the river. Some rivers have very large basins while athers of (15) ----
drain much smaller basins. Thus although the Nile and the Amazon are about the same length,
the basin of the Amazon is more than twice as big as that of the Nile.
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11- 1) Water 2) Another 3) The rest 4) The other
12-1) It 2) There 3) What 4) If this
13- 1) that 2) which 3) in that 4) of which
14- 1) calling 2) to call 3) is called 4) being called
15- 1) lengthy equal 2) equal length 3) lengthy equally 4) equally lengthy

Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3),
o TR W i Ol Yot aniweT ER et

PASSAEG 1:

Material procurement and replenishment is related to quantities in stock at the company,
among other issues. To take these stocks into consideration and to keep a track of stocks on
hand, their quantities must be determined and hence §ome sort of inventory accounting must be
established. There are two different methods of recognizing current stock on hand in a
company: transactional or perpetual inventory accounting, and periodic inventory accounting.
In the former method, stock on hand is updated each time a stock deal takes place, inbound
deliveries are added and withdrawals are subtracted. This is by fat the most common approach
in industrial companies. The latter means that the balance is only updated when there is a need
or a plan to physically check how larger remaining stocks are, and possibly to enter this
quantity in the inventory accounting system. It may be considered as a form of physical
inventory counting. This method is less expensive and can be easily used for rectifying
maccuracies in stock on hand. If an awtomatic updating, e.g. backflushing is utilized, the
physical counting is eliminated. Therefore, the actual stock on hand will be lower than the
administrative report.

16- According to the text, which method is more economic?

1) Withdrawal system 2} Stock on hand accounting

3) Periodic inventory accounting 4) Transactional inventory accounting
17- Backflushing is:

1} A tracking system Z) An automatic revision

3) An administrative report 4} A physical counting method
18- Which is the best title for the above text?

1) Material planning 2} Physical inventories

3) Inventory accounting 4) Deliveries and withdrawals
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PASSAGE 2:

As opposed to traditional mass production, LEAN manufacturing is an innovative
production system pioneered by Toyota Co. In a nutshell, lean manufacturing is the endless
pursuit of climinating waste, anything that adds cost but not value to a product, A successful
lean conversion requires detailed completion of all preliminary steps, such as mapping the
current and future state, developing a business case, and organizing change management
activities. It is worth exploring the difficult, yet important task of creating a vision that
achieves commitment, alignment, and action toward the desired future state. Creating a vision
is difficult because implementers believe they need a “perfect” description of what the future
looks like. It is unrealistic to expect that a non-lean organization can create a descriptive vision
of the future. It is the process that created the all-important synerpy of effort, not the
preciseness of the vision statement. A vision statement 1s a work in progress.

To alleviate fears that the organization may be chasing unrealistic dreams, create the initial
vision for no more than one year into the future. As time goes by and the clarity of purpose
becomes apparent, the vision’s duration can be lengthened to seven or ten years. This way, the
vision becomes something real and tangible for the organization.

Changing the vision is desirable and necessary as the organization learns from the
implementation process. One shorteut in the discovery process is to engage someone with
experience in implementing lean 10 detail the necessary eonditions. Even with this expert,
however, an organization must be careful not to let the visioning effort be the product of expert
knowledge. Those in the organization who will implement the lean concepts, the key
stakeholders, should produce the process and resulting outcomes.

When all the preparatory activities are completed, the organization is prepared to begin
implementation. Implementation must be well-organized and precisely executed so the right
signal is sent to the rest of the organization. Shop floor personnel, managers, and others are
most likely waiting for affirmative leadership. The leaders, however, have not had any
experience implementing lean. Providing solid leadership can be difficult unless
implementation architecture exists to instruct those involved. Architecture must be simple,
easily understood, and provide a picture of how the implementation will proceed.

19- The first paragraph points out —---—-- e,
1) how to change management activities
2) how to map the present and future state
3) the description of what the future looks like
4) the challenges a successful lean conversion faces
20- We understand from paragraph 1 that ------==-eeex .
1) even unrealistic dreams do not create fears in the company
2) a clear description of the future is the key to a long term vision
3) creating a vision about the desired future state is never possible
4) a description of the future guarantees a successful lean conversion
21-The last paragraph mainly deals with ----—----— -—.
1) how should preparatory activities be carried out
2) how the night signal can be sent 1o the organization
3) the role of managers in executing the implementation
4) te implementation of lean manufacturing system in the company
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PASSAGE 3:

“Total Productive Maintenance” is a concept through which plant, machinery, and
equipment operators are empowered to maintain continuous Production on totally efficient
lines. It iz a tried and tested way of cutting waste, saving money, and making factories better
places to work. It gives operators the knowledge and confidence to manage their own
machines.

Instead of waiting for a breakdown. Then calling the maintenance Engineer, they deal
directly with small problems before they become big ones. Operators investigate and then
eliminate the root causes of machine errors. Also, they work in small teams to achieve
continuous improvements to the production lines.

22- Through “Total Productive Maintenance”™ concept:
1) Operators learn to find the main causes of machine failures.
2) The root causes of machine errors is due to the elimination of operators.
3) Operators investigate about how they can eliminate their own operational errors.
4) All of the above.
23- Total Productive Maintenance:
1) totally works on preventive maintenance activities.
2) gives more power to plants, machinery and equipment.
3) continuously operates the plants, machinery and equipment.
4) maintains production lines at high efficiency and little or no interruptions.
24- According to the passage, what is the meaning of “eliminate™?
1) remove 2) modify 3) polish 4) select

PASSAGE 4:

Al one point or another almost every organization will take on a large and complex project. A
construction company putting up an office building or laying a highway must complete
thousands of (25) —---- activities. A government agency installing and debugging an expensive
computer spends months preparing the details of smooth conversion to new equipment. A
shipyard in Marine requires tens of thousands of steps in constructing an oceangoing tugboat.
An oil refinery about to shot down for a major maintenance project faces astronomical
expenses if this difficult task is unduly delayed for any reason. Almost every industry worries
about how to manage similar large-scale, complicated projects effectively.

Large, often one-time, projects are difficult challenges to operation (26) ------. The stakes are
high. Millions of dollars in eost overruns have been wasted due to poor planning on projects.
Unnecessary delays have occurred due to poor scheduling. And companies have gone bankrupt
due to poor controls.

25- A construction company putting up an office building or laying a high way must complete
thousands of ------------- activities.

1) costly 2) critical 3) simple 4) scientific
26- Large, often one-time projects are difficult challenges to operation —----------- .
1) customers 2) effectively 3) managers 4) management
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27-In general, the systematic definition of --------- can be defined as the ability of a person or
system to perform and maintain its functions in routine ------ —-----, @5 well as hostile or
unexpected circumstances.

1) maintainability — analysis 2) flexibility — environments
3) reliability — circumstances 4) accountability — calculations

28- They have considered the problem of ------------ a nonlinear smooth objective function of
several variables when the derivatives of the objective function are ---—------- and when
no constraints are specified on the problem’s variables.
1) solving — fuzzy 2} handling — known
3) optimizing — noticeable 4) minimizing — unavailable

29-Some of the promising directions for elaborating these ------ === in the future may be
viewed from a framework that links the --------- of artificial intelligence and operations
research.
1) issues — future 2) inventions — cases
3) problems — capability 4} innovations — perspectives

30- There is also a need to inspect what has been delivered to the organization by its ------—---
and what has already been produced by the organization.
1) acceptance 2) suppliers 3) procedures 4) imperfection
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